
NEW HORIZON SCHOOL 

CLASS III 

ASSIGNMENT NO 2 

1. Fill in the blanks: 

a. ϭϭϵϬ + ϵϳϴϬ + ϲϯϯϴ = ϵϳϴϬ + …………………+ ϭϭϵϬ 

 

b. ϳϮϲ + ………………. + ϱϰϲϭ = ϱϰϲϭ + Ϯϯϯϰ + 726 

 

c. ϯϮϮϯ + ϳϴϵϬ + ϭϬϬ = ………………. + ϳϴϵϬ + ϯϮϮϯ 

 

2. Fill in the blanks: 

a. 8990 + 1000 =  …………………. 
 

b. 259 + 10 =  ..……………….. 
 

c. 777 + 100 =   …..……………..  
 

3. Guess the addends and fill in the blanks: 

 

a. ϯϬ + ………………. = ϴϬ 

 

b. ϳϬϬ + ………………….= ϵϬϬ 

 

c. ϭϳϬϬ + …………………….= ϭϴϬϬ 

 

d. …………. + 600 = 800 

 

4. A train is carrying 1200 passengers. 720 more passengers get into it. How many 

passengers are there in the train now?  

 

 

 

 

5. In class III, there are 15 girls and 20 boys. How many students are there in all? 
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6. Add the following: 
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